SuMPO EPD

SuMPO

..EPD

AAAAA

VERIFIED

4T NERBES (EPD)

E5&ES ¢ JR-AlI-26078E

BEHIU
Bml1asrY

BEN R
L s3]

O fEe
BRI EELRE - A EEELRY - TRIBERRE
(EF - MR E RN R UM UIVERRE

HADRR, TEMLK-FE
B : h5-#E & H/Color MFD
TASKalfa MZ7500ci(US)
AR :BFEEAN (EP)
ENRIEREE : £/70/h5-  75/70 #/%
FIEYAX 1 BAR131YF x 19.21YF/SRA3
FEENR © EAE L

A¥-/FUY b/ AF v /FAX(Option)
B E85AH ¢ 1ZAERAE

FLWEhHEE
REIRFIATIII-230X(K)

ho—1E51H
/Color MFD

SUMPORIESNIVTOIS s
— AL EEAY AT IR S HEE
RREFREXAMHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

TASKalfa
MZ7500ci(US)

RESRFIAX M-3R Ett
/KYOCERA Document Solutions Inc.

ERES
BRAPCRES
PCR%

NG]=
RILE%A
REEAR
RILES
MREER ZhHARE

JR-AI-26078E
PA-590000-AI-08
B A DikaR
20265F7H3H
202667 18H
YATLIRFH R
JV-AI-26078E
20314F6 B 17H

PCRLE1I-DETE
ZFEHAZ% 2023%F 948 1H
ZER HIF Bz

B=HRE
S ERIREE &

—REEIE AT R T UREHEERE

AHA 1Bz

ISO14025(C > ABEE R UT-F DI LR EE

OAEB WAHER

*YATLRAER I EEEAORIEDH R, VAT LRAZTOLEEED

FEERH,

EREEAED EFEI4HREE2158 TEL: 06-6764-3764
https://www.kyoceradocumentsolutions.co.jp

BHES

JR-AI-26078E



SuMPO

EPD

ananan

VERIFIED

SuMPO EPD
4T NERBES (EPD)

Z5&ES ¢ JR-AlI-26078E

SUMPORIESANILTOIS I
—RRAEIEAY AT T IR EHEEHS
RREFREXAFHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label jp

OF17Y1 7V B R

0% 20% 40% 60% 80% 100%
SUEZ®) IPCC 2013 GWP 100a 3300 | kg-COqeq
7 qe (4 5.10 | kg-SOzeq
BREE 0.15| kg-Sbeq °
B ORHMEREE mQLE »QFE m @A HEEE nOFEE- VY1
AR IHH Bify a%F OFREMERE QOfE QitiE |0 #EEE OEE- VS
RURZED kg-CO.eq | 3.3E+03 1.3E+03 3.4E+01 2.1E+02 14E+03 3.1E+02
AV EHIE kg-CFC-11eq| 2.6E-04 1.6E-04 6.1E-06 2.6E-09 8.0E-05 7.7E-06
732 (d kg-SO.eq | 5.1E+00 1.2E+00 8.7E-02 4.8E-01 2.8E+00 4.6E-01
HAEFEAFIT I kg-CoHseq | 5.7E-02 3.6E-02 5.1E-04 1.1E-03 1.9E-02 1.1E-03
EXREL kg-PO.*eq | 1.9E-01 2.9E-02 6.9E-04 2.1E-09 1.6E-01 2.2E-04
BREE kg-Sheq 1.5E-01 9.8E-02 2.0E-04 8.7E-04 4.6E-02 5.1E-04
B 525
— =i R  KE
Eiﬁjﬁsé;ﬁ 4:1E+02 kg S
. @BEERAME 1 £/70/h5- 1 417,600/364,800
BEREEIRY- 3.5+03 M) .
Q@E‘GRENERE (EIRIFK) OBFEE LELTVEEA,
3 % 2 (- R 3 2,42 -BAREELCAVWRYFUAICBVTERE LR S
MR- ME (ERES) s P BB \7")798;({‘@3% (EPA )
I 55 5 8.4E+01 kg {ERIRINF-RT-T0I I LVer3 2% @A
SuUS 33400 kg CHFEMERSAELERCEMTTHNSRFTEAEXIN
Cu 356400 kg LEFER - HIFEEERRICE Langd,
Al 2.9E+00 kg
EREA 2R 5.5E+01 kg
AR MRS 6.9E-01 kg
=N 3.1E-01 kg
® 2.0E+01 kg
FEFEMR 5.8E+00 kg
FEIE-4 6.6E+00 kg
n IR 8.5E+00 kg
At 1.6E+01 kg
ZOftES - BT 1.1E-01 kg




SuMPO EPD SUMPOBRIESANITOI T A

SEUME;)D . — R EE AT AT F IR A
N .. AAAAA SAFNBEBEEE (EPD) AT AR PR 148
VERIFIED KANDA SQUARE GATE
BF#kES © JR-AI-26078E https://ecoleaf-label jp

©®-1.ZD b DIRIZREDE IR
CERBRIRNF-AF-TOIILEEGEELTVNET,
-ISO14001 R EEB TIH TEELTNET,
HNEAN-OTIAFYIINDT Y R E#RFEFERLTVE A,

DERLEZRT-IDEXS

JREIIZIDEA ver3.1.0 R U'SUMPOERIESANI FOJ S L& 8T -Iv1.16&EBLTVNET,

®fF%E

OT-YHEDAEIE PCRELUVETE - EERBEESRBL T,
OLLRIIDOVNTE, BE - EEREBICREINLZEFEHLLLIGEILYRHONEEA.
(ZH%URL ! https://ecoleaf-label jp/regulation/)
E#x&E\ES © JR-AI-26078E



